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ẍ(t) + x(t) = x3(t), 5r9

�
�2� �����
 ���%"���� �
� ��&�"��
� �
&
�
 &"� &�������
;�� �
#���

"�������� �����"���� �����&������1 ��(���! 5���, �
������, fo, ��r�g, frg9�
����� ����, 4�� %�
������ ��2�� �
���
����
���� �
� %���3����! �
��0


�� %�
������ �
���
��������� �
�����
, ������� ��2�� �#�
#��
�� �����
�
��� 2� �#�
���, �
� ���
�
�� ��2��



��

+
� �������% � �
"�� ��(���� %�
������ 5r9 � �
� ��� 4��" ;�����% �,
���&
 ��
������� �� �
"��
/&�
�� %�
������ 5r9 �������
����� 5� �#�
����9, ��4���% ��� &���
���0

�� �
"�� ��(���� #%&%� �����&���������
k�� ���
�
��, ��� � �
������ �
"��� �
�
����
 �"�&%�� ����� ��������!

&�
���� �
���� ��(����, ���� �����! ������
"� ��"�2��

H2 =

(
d

dt
x(t)

)2
+ x2(t)− 1

2
x4(t). 5s9

)
�&%�� ��(���� �
�, ��� �%"���� ���#"�2���� #%&�� %2� �� �
"�, ����
�&�"
�� �
���% x(t) = H w(t) � %�
������ 5r9 � ��� ������ ������
"� 5s9�
��"%��� %�
������
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�

{Pn} = {1, 3
8
,
105

128
,
3465

1024
,
675675

32768
,
43648605

262144
,
7027425405

4194304
,
677644592625

33554432
, . . .}.

+
������, ��� �� ����"����
"� 4�������;�
"���� �������&�3�� :%��0
;��� ��4���% 5��������
���!9 �����& ��(���� &"� ��1�&���� ������� t

P = 1 +
3

8
h+

105

256
h2 +

1155

2048
h3 +

225225

262144
h4 +

2909907

2097152
h5 + . . .

�����
3
��� � ��1�&��� ����������, ��"%��� ��(���� x(t), 
�
"����0
��� &
����% � �
�&� � &"� %�
������ �
� &�� ��"��



��

/&�
�� �&��� �
� �������%�� ������, ���� "� �
���0"�#� �
������������ �
��4::�;����
1 ��(����� '� �� �
("� �
 ���� �����
 � "����
�%��, ��4���%
�������"� �����
��% tuECKKv, ��
"����
��% �
 ����� V?JFC � �����
�
�
1�&���� � �������� &���%���
'�2�� �
�2� ��������� ���������! �
��� tOLEBv, ������! ���&
0�� �
0

1�&�"�� � �������! #�#"������ V?JFC0�����
�� t8S?@Cv�
� ���%"��
�� ��"%���

P =
∞∑
n=0

2−nΓ (2n+ 1/2)hn

√
πΓ2 (n+ 1)

=
2

π

1
4
√
1− 2 h

K

⎛
⎝1
2
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 ������� ������������ �������
����� ������� 
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⎛
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An,k u
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⎞
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⎛
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�����! �
� &�� ��"�
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2
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��4���% ���#1�&��� P1 = 0 5�
������, ��� P0 = 19�
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"
 I(h) &
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1 5������� �
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 �
� %�
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5
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1
4 , Case 1

P2 = −2
3; a20 + b20 =
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P2 = −2
3; c20 + d20 =

1
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��� ��&��#0

�� ������
�� ��� �
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��"��� �����"����� ����!��� � �
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�� �������"���, �� �
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��4���% ��2�� ��#�
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0
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;�� ������� ������
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 5�r9� e
��� �#�
���, ��"%���
a2n−1 = P2n−1 ≡ 0, �

a2n√
2
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1

2
,−17

72
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,−10760969
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,
232111109209

9331200
,−7204608236483
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, . . .],

P2n = [1,−2

3
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,
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15
,
33245904796951

8100
, . . .]
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P̃ (h) =

⎛
⎝ ∞∑
k=0

Pk

k!
hk

⎞
⎠1/2

=
∞∑
k=0

P̃k h
k, 5�.9
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 � ��"���!��� %�
������ &"� �1�&�3�1 �
��1 ��4::�;������� +
 
0� (
�� 4�� %�
������ ����"��% ��� &"� �����"�0
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2
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